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i) General Awareness

The Stanley Water Reservoir formed by
the Mettur Dam on the

(A) Cauvery river
(B) Godavari river
(C) Krishna river
(D) None of the above

Bhakra Dam is constructed on
(A) Satluj river

(B) Indus river

(C) Narmada river

(D) None of the above

India is having common border with which
of the following nation/s ?

(A) Afghan, Pakistan, China, Bhutan,
Sri Lanka, Myanmar

(B) Afghan, Pakistan, Bhutan, Nepal,
Sri Lanka, China

(C) Afghan, Pakistan, China, Bhutan,
Nepal, Myanmar

(D) None of the above

Golden rice is biofortified to address
(A) Vitamin C deficiency

(B) Vitamin D deficiency

(C) Vitamin A deficiency

(D) None of the above

Which of the following is the India’s first
indigenous semi-high speed train which
was built under Make in India initiative
of Central Government ?

(A) Humsafar Express
(B) Shatabdi Express
(C) Vande Bharat Express
(D) None of the above

6.

10.

The real executive power of the Union
is vested in the

(A) Rajyasabha
(B) Loksabha

(C) Council of Ministers with the Prime
Minister as its head

(D) None of the above

Ranji Trophy of 2018-19 season won by
(A) Vidarbha

(B) Karnataka

(C) Kerala

(D) None of the above

Which of the following is the India’s first
multi wavelength space observatory ?

(A) Cartosat

(B) Astrosat

(C) Resourcesat-1
(D) None of the above

Bombay High (Mumbai High) is an
offshore oil field of India located in the
(A) Bay of Bengal

(B) Arabian Sea

(C) Red Sea

(D) None of the above

Which one of the following countries
doesnot shares boundary between
Oman ?

(A) Yemen
(B) Saudi Arabia
(C) UAE

(D) None of the above
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12,

13.

14,

15.

El Nino is a climate cycle in the

(A) Pacific Ocean

(B) Indian Ocean

(C) Atlantic Ocean

(D) None of the above

The Kaladan Multi Modal Transit
Transport Project is the connectivity

project between North-East States of
India and

(A) Nepal

(B) Bhutan

(C) Myanmar

(D) None of the above

Which of the following Wildlife Sanctuary
is also called as mini Kaziranga ?

(A) Pobitora Wildlife Sanctuary

(B) Bura Chapori Wildlife Sanctuary
(C) Garampani Wildlife Sanctuary
(D) None of the above

The Hormuz Strait connects

(A) Persian Gulf to the Arabian Sea
(B) Arabian Sea to the Gulf of Kachchh
(C) Indian Ocean to South China Sea
(D) None of the above

Which of the following crop given below
is not a Rabi crop ?

(A) Wheat
(B) Barley
(C) Mustard
(D) None of the above

16.

17.

18.

19.

20.

MKG-XXXI/TECHWO/1T/01

Which of the following animal notified as
the national aquatic animal of India ?

(A) Gharials of Chambal
(B) Gangetic river dolphin
(C) Dugong of Arabian Sea
(D) None of the above

Relative humidity is measured by
(A) Hygrometer

(B) Anemometer

(C) Thermometer

(D) None of the above

At present how many high courts in the
country ?

(A) 20
(B) 12
(C) 24
(D) None of the above

What is OECD stands for, which is an
International Economic Organisation ?

(A) Organisation for Economic
Co-ordination and Development

Organisation for Economic
Co-operation and Development

Organisation for Economic

Co-operation and Distribution of
Wealth

None of the above

(B)

(C)

(D)

Which of the hill station in India recently
got the tag of “The wettest place in the
earth” on this monsoon ?

(A) Udhagamandalam (Ooty)
(B) Mahabaleshwar

(C) Wayanad

(D) None of the above
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12.

13.

14.

15.

ue i T U ST 9% 2l
(A) 9SITE HEEFR

(B) fez werarm

(C) FTHATEH HEHFT

(D) 3% H | g T

FAGH Hed! Aied TRaed TREISHT 9R°d %
-l TSl 3R EIERISE
qiISHT B

(A) A9t

(B) "Rﬁ

(C) =M

(D) 3 H ° I3 T2

fFrafafaa 4 @ FF-a1 g=sia s
BT HIS T FHEeATdl & ¢

(A) Tifser a=sig sparm

(B) FU AT F=Isiig STHH0T

(C) TRHUH! F=sia 370

(D) 3 H 8 IS 7@

HEEEIRCIE I Sredt Bl
(A) i i @rEt @ nform g
(B) aTifera unz ¥ F=s FI Wil
(C) &= weranm & faft < vz
(D) 3 H Y IS TE

Frafafaa § @ sR-dt w9 it v
e ?

(A) TE

(B)

(C) T

(D) 3% | H HIS TR

16.

7.

18.

19.

20.
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fr=afafaa @ 9 frg st =it vy 1 o
Sefta Sftg stftrgfem fFa mn g ?

(A) = % ufears

(B) T 7t &l SifehA

(C) g =t SHferr Hs

(D) 3 ¥ & 1§ TE

TTIE AT B0 ATt STt B
(A) ETZTTER

(B) THmHIHI

(C) gHHR

(D) I H & s T

FAIE H 29 | fohad 3= FA@I & 7
(A) 20

(B) 12

(C) 24

(D) 3o ¥ © s el

OECD frus fou ammar 2, =it fof w6

Frauety anfdfs graa @ 7

(A) SIS B SRS
- AT T2 STz

(B) SATTHTESITH B TN hi-3RIH
te Sasi

(C) SATTHTZSII BT SHHTH hi-THIH
g fefegsqym 31ie Jey

(D) I § ¥ IS A&

B € ° wia A R vddi e #
m#cgm‘qsaﬁmaaﬁam’@m’maﬁ
foenz ?

(A) 3&HseH (H)
(B) HRTEwIYal

(C) dIqE

(D) 3% & & FIE TE
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23.

24.
25.

26.
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ii) Mental Ability and Reasoning Ability

Complete the following series.

64, 125, 216, 343, e
(A) 424 (B) 317
(C) 512 (D) 384

Find odd number in following series.

10, 11, 15, 24, 42, 65, 101
(A) 42 (B) 24
(C) 65 (D) 101

In the following number sequence
how many odd numbers are there that
are immediately preceded by an odd
number and immediately followed by
an even number ?

786524318794268314275
648138972648352

(A) 5 (B) 6
(C) 7 (D) 8
Complete the series.

L X, J,W, K, V, L,

(A) M (B) U
(C) S ) T

Find missing word.

BCDE : DFHH :: FGHI :
(A) LJPL (B) LKPL
(C) JKPJ (D) IKPL

In a certain code language, if CRICKET
is coded as 3923564, ROCKET is coded
as 913564 and KETTLE is coded as
564406, then how is LITTLE coded in
that language ?

(A) 244060
(C) 020446

(B) 024406
(D) 200446

27.

28.

29.

In a certain code language, if

1 # 2 7 means | do not cheat

9 @ 7 6 ¥ means | win the gold medal
37 6 n # means | am not the last

1 8 # % means Manav do not loose

46 6 @Y means Last person win the
silver medal

4 5 8 » means Manav is a person

What is the code for ‘cheat’ ?
(A) 7 (B) 1
(C) # (D) 2

In a certain code language, if pen means
eraser, eraser means book, book
means scale, scale means sharpener,
sharpener means duster and duster
means table, then what is the name of
the object that is used to clean the black
board in that language ?

(A) Duster (B) Sharpener
(C) Scale (D) Table

Within a group of 240 employees of a
company, it is known that 100 speak
English, 110 speak Hindi and 140 speak
Kannada. It is also known that 30 speak
both English and Hindi, 50 speak both
Hindi and Kannada, 50 speak both
Kannada and English, while 20 speak
English, Hindi as well as Kannada.

How many of them speak exactly one
language ?
(A) 120
(C) 150

(B) 180
(D) 240



21.

22.
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ii) Wi ermar aur darfehes Trgan

fr=feafiaa s =it g+t 27. Terdt faw whie s |, afe

64, 125, 216, 343, 1 # 2 7 %1 9dois 8 | do not cheat

(A) 424 (B) 317 9 @; I? 6 ¥ = Haad & | win the gold
meda

()42 Bi=es 376 # % T & | am not the last

Freffan saen i s den B 9| 18 # % I Ha@s & Manav do not loose

10, 11, 15, 24, 42, 65, 101 4::6.[-1 @ ¥ %1 odeTd ¢ Last person win
the silver medal

), A2 (B)=24 458+ Haas @ Manav is a person

(C) 65 ) 10 dl ‘cheat H feru R =HE & 7

dﬁ%ﬁqmnﬁﬁmﬁwﬁw (A) 7 (B) 1

@%ﬁqﬁmmwﬁwm (C) # (D) 2

31T FhTE 18 U WY HEAT g ® 7

786524318794268314275
648138972648352

(A) 5 (B) 6

C) 7 (D) 8

& ¢ R T G H

LX, J, W, KV, L,

(A) M (B) U

(C) s ©) T

wreft ¥ & foe wdt s1an a9
BCDE : DFHH :: FGHI :

(A) LJPL (B) LKPL

(C) JKPJ (D) IKPL

et fasy sie s #, af® CRICKET
T 3923564, ROCKET %! 913564 3R
KETTLE =t 564406 forar siran &, a1 3dt

T H LITTLE ohT SIS &=I1 21T 7
(A) 244060 (B) 024406
(C) 020446 (D) 200446

28.

29.

g foret farsy =g wmT |, e =1 Haew
2 g, W &I Haos & Y&, JRI &
HdoTel & &hol, ©hel &1 Hads & 9,
I 1 AT & SE 311 S &l Haad
2 2, o1 3T W H srhaTe ol |16 i
% fore 3w &t STHaTe 9% &1 =1 AW
g ?

(A) BT (B) IR

(C) e (D) 2=

foret ot 2 240 wH=TiEl & THE H |
100 TR} ST Sierd €, 110 FHAR!
&t S & 3R 140 FH= w9 diod
21 398 ¥ 30 FHHAM AU 3 &t Il
a8, 50 FHE & i Fug IE
aIed 8, 50 FHET Fae 3 AU A1
A & Sefeh 20 HHER 3, f&dt 3t
EEEEIREET R

378 B fras = e U & s e
g7

(A) 120 (B) 180

(C) 150 (D) 240
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30.

31.

32.

33.

34,

35.

A watch, which gains uniformly was
observed to be 6 minutes slow at
9.00 a.m. on a Tuesday and 3 minutes
fast at 12.00 noon on the subsequent
Wednesday. When did the watch show
the correct time ?

(A) 9.00 p.m. on Tuesday

(B) 12.00 noon on Wednesday

(C) 3.00 a.m. on Wednesday

(D) 6.00 a.m. on Wednesday

If in a certain code language ‘GEAR’ is
written as ‘5914’ and ‘ROUTE’ is written
as ‘47289’, then how will ‘GATE' be
written in that language ?

(A) 5187 (B) 5189

(C) 5289 (D) 5429

If4 ©5=189and 10 ®8 = 1512, then
6 ©9=

(A) 945 (B) 983

(C) 764 (D) 932

A person starts from his house and
travels 8 m towards west, then he
travels 6 m towards his left, then 8 m
towards west and then 4 m towards
south. Finally, he turns right and travels
5 m. What is the horizontal distance
travelled by him ?

(A) 26 m (B) 30m
(C) 21 m (D) 11m

Arrange the following words as per order
in the dictionary.

1. Bound 2. Bonus
3. Bunch 4. Board
(A) 1,4,2,3 (B) 2,4,3,1
(C) 4,2,1,3 (D) 4,3,2,1

A person walks 4 km towards west, then
turns to his right to travel 9 km. He turns
towards east and travels 12 km. Finally,
he travels 3 km towards south. How far
is he from the initial position ?

(A) 15 km (B) 23 km
(C) 18 km (D) 10 km

36.

37.

38.

39.

40.
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When watch shows 5:15, if the minute
hand points towards the east, then in
which direction will the hour hand point
at 6:00 ?

(A) North (B) South

(C) East (D) West

N is more intelligent than M. M is not
as intelligent as Y. X is more intelligent
than Y but not as good as N. Who is the
most intelligent of all ?

(A) N (B) M

(C) X (D) Y

In a family of three generations, there
are eight members, M and N are
brothers, R is the grandson of Q. T is
the only niece of M, P is the sister-in-law
of N. O is the mother-in-law of S. There
are three married couples in the family.
T is the daughter of S. How is P related
toO?

(A) Aunt

(B) Mother

(C) Daughter-in-law

(D) Father

Divya's father, pointing towards a
person said, “He is the brother of my
father’s only sibling”. How is the person
related to Divya ?

(A) Father (B) Uncle

(C) Brother (D) Grandfather

In a round table conference six persons
are participating. They are Andy, Bob,
Charles, Douglus, Elena and Fred. Bob
is sitting between Charles and Elena
and is opposite to Andy. Douglus is
sitting to the left of Elena.

Who is sitting opposite to Douglus ?
(A) Andy (B) Bob
(C) Charles (D) Fred
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30. & 9El, & WY H UH §HE ¥9 4 3fg

31.

32.

33.

34.

35.

21 T 2| F- 9T T Wi ) gee
9 &5 5 6 fire efiwfl off st st guam
I 29e 12 991 3 fire 31 2 st 2 ) =
I el GE GHY F9171 ST ?

(A) TTETER %! 9 9.00 §9

(B) SR I ITET 12.00 &9

(C) USRI o@ 3.00 &t

(D) FUER H G 6.00 91

UF FZ W] H ‘GEAR' Fl ‘5914’ 3R
'‘ROUTE’ =il ‘47289’ foman smn 2, @t
‘GATE' %1 39 w91 § F¢ foran smem ?
(A) 5187 (B) 5189

(C) 5289 (D) 5429

qfc 4 ©5=189 3N 10 ©8 = 1512,
q6 09=

(A) 945 (B) 983

(C) 764 (D) 932

F SHfF 39 W H T TRY F] §
3R ufyem fewm 7t 31 8 ot =@ 7, i
e =70 g 6 Tt werar 8, R ae ufvem
1 3R 8 Hi Jern 8 3R IuF =e e
#1 A 4 W IFar 2| 7d H q_gIAH
5 1} =rerdl 8| 39 g a9 i TS &fos g
a2 ?

(A) 261 (B) 30t

(C) 214t (D) 1174t
Tafefaa vie2i = yegem sH H fafan |
1. Bound 2. Bonus

3. Bunch 4. Board

(A) 1,4,2,3 (B) 2.4,3,1

(C) 4.2 V=8 (D) 4,3,21

T Afaq gfvem feem i 31w 4 faft Yew

Terar 7, R and g Sar @ ofv 9 feret
I 2| f a8 qd fowm 3R g
12 fopedt <reram ®1 37a # 2féor fewm 6t 3in
3 foreft et 2, 4t 3199 WAy T 9 98

aft forefi g R 7
(A) 15 fart (B) 23 i
(C) 18 forri (D) 10 farefi

36.

37.

38.

39.

40.
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e Bt ° 5:15 T 8, Afg fime & 98
& fewm 1 7R el 2, 1 6 : 00 5 H

i g3 fora foen 4 &nft ?
(A) 3 (B) =fém
©) (D) uf¥Em

N, M & 3foe gfgam 2 | M, Y S
gfemm a2 | X, Y § st gfgmma t wg
N fore st 7€ @ | 999 s9mET gien™
Eac i

(A) N (B) M

(C) X (B) Y

i difeal & v ofEn | 8 g 81 M 3R
N 9g €, R, Q %1t 81 T, M 3t TuT
wefsft 21 P, N |Teft 81 0, S | B
34 wiER # fF e e 81T, S
R PFOAFTIYR ?

(A) == (B) =i
(C) =] (D) fom
T =fF d S T R g e F

fiarsht 3 =1, « 98 W s & A
RIS 1 9T &1 39 AfF #1 fesm @ =
Ty ? 7

(A) o (B) ==
(C) g (D) @mT
F e A g § 6 Afa TR A ®

2137 9 B 0, &9, wed, T, T
3R Fe| =i =ed I TeAT F o e
LAY UL F U B | ST, TS F S
I F3T 2

SIAE % HIHA S o431 8 7
(A) T (B) e
(C) =g (D) %8
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41.

42,

43.
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iii) Numerical Aptitude and Data Interpretation

A passenger train takes 3 hours less
for a journey of 360 km if its speed is
increased by 10 kmph. What is the usual
speed of the train ?

(A) 30 kmph
(B) 45 kmph
(C) 36 kmph

(D) none of these

The perimeter of a rectangular field is
82 m and its area is 400 m2. The length
of the field if length is longer than the
breadth is

(A) 16 m
(B) 25m
(C) 18m

(D) none of these

The hypotenuse of a right angled
triangle is 6 metres more than twice the
shortest side. If the third side is 2 metre
less than the hypotenuse, the length of
shortest side of the triangle is

(A) 12m

(B) 11 m

(C) 10m

(D) none of these

44

45.

46.

47.

48.

49.

50.

How long will it take a sum of money to
double itself at 8% p.a. ? Then simple
interest is

(A) 12.5yr.
(C) 13.5yr.

(B) 12yr.
(D) 10yr.

The sum which will amount to

Rs. 13,000 in 6 years at 5% p.a. then
simple interest is
(A) Rs. 15,300

(C) Rs. 10,000

(B) Rs. 9,500
(D) None of these

At what rate of simple interest will
Rs. 1,440 amount to Rs. 1,488 in
10 months ?

(A) 5% (B) 5.5%

(C) 6% (D) 4%
Compound interest on Rs. 7,500 at 14%
for four years is

(A) Rs. 5,167.20

(B) Rs. 5,000

(C) Rs. 5,500

(D) None of these

If sin A=4/5 and A is acute then cos A =
(A) 3/5 (B) 5/3

(C) 5/4 (D) 1

If x=acos 6,y =asin 0 then x2 + y2 =
(A) O (B) 2a?

(C) a? (D) none of these
If20 men can do a job in 18 days, 60 men
complete the same job in

(A) 54 days (B) 15 days

(C) 6days (D) 7 days
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iii) TEATeHe Shivel Ud sT1et fHawe

gfe fordt amht 27 it nfey 10 foredt forer =g
4} =Tt 2 4, 360 faFt % g & fou =
3 92 FH THY oidl &1 34 T g Tl
27

(A) 30 feFt /=

(B) 45 Tereft /wre

(C) 36 fopedt /=

(D) 5 & IS

UF AT Ao i gifufa 82 # & 3R
$OE! SABA 400 H 2| I HeE it Fers
39 <IeTs ¥ AfY 2 A, fem i warg
et g 7

(A) 167l
(B) 25+t
(C) 18+l
(D) % H I3 T

U THH S 1 ol suehl e Bt
ST & A § 6 Hiex 1fess 21 afs By
1 el g F Fard ol H 2 HiEX FH R
@, Pras it w8 B o F T F=n
Bt ?

(A) 124t

(B) 11t

(C) 104t

(D) ¥H & IS T

44,

45.

46.

47.

48.

49.

50.

8% Wt BTIRYT ST i &% § ferelt T
1 QA1 & | foraan wwa e ?
(A) 12534 (B) 12ad
(C) 13.5a (D) 1039

5% Sfday | IS H 2 E 6 TNl H P
[T %. 13,000 BT &, 98 Ui e e ?
(A) % 15300  (B) % 9,500

(C) % 10,000 (D) 37H & I3 &
e = & TraRy =S ¥ §. 1,440 i
Tf3t 10 9EH1 | %. 1,488 B St 7

(A) 5% (B) 5.5%

(C) 6% (D) 4%

14% I ST W TR T8 # %. 7,500 F1 THIfE
=71 TereHT BT 7

(A) ¥.5,167.20

(B) %.5,000

(C) %.5,500

(D) 3T & =hIE 7l

IfE sin A = 4/5 3 A TR & @,

Cos A =

(A) 3/5 (B) 5/3

(C) 5/4 (D) 1
qfEx=acos0,y=asin 0l x2+y2=
(A) O (B) 2a?

(C) a? (D) T & g 8
afe 20 areHt et wm 1 18 &A1 & qu
X GFd & 1, 60 reHt fierew 3dt wm
1 Q0 A | fera wmg o 7

(A) 54 &= (B) 15T

(C) 6@ (D) 7=
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52.

53.

54.

55.
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Monthly incomes of A and B are in the
ratio of 3 : 4 and their monthly savings

are in the ratio of 1 : 2. If each spends
Rs. 2,000, the monthly income of B is

(A) Rs.3,500 (B) Rs. 6,000
(C) Rs.8,000 (D) Rs. 4,000

If a train travels 15 km/ hr faster, it would
take 1 hour less to travel 180 km. The
original speed of the train is

(A) 60 km/hr
(B) 30 km/hr
(C) 45 km/hr

(D) none of these

The quadratic equation whose roots
are ‘o’ and ‘B’ such that o + B =15 and
a—pB=-7is

x2—15x—44 =0

x°—15x +44 =0

Ifx-y=3&nd§+%z6then(x,y)z
(A) (2,3) (B) (6,9)

(C) (9,6) D) (3,2

A cubic polynomial can have atmost
(A) 3 zeroes (B) 2 zeroes

(C) 4 zeroes (D) 1 zero

56.

57

58.

59.

60.
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A quadratic polynomial, the sum and
product of whose zeroes are — 3 and 2
respectively, is

(A) x2—3x+2
(C) x2+3x+2

(B) x2-3x-2

(D) none of these

The average age of 10 students is 6 years.
The sum of the ages of 9 of them is
52 years. The age of 10! student is

(A) 6 years (B) 8years

(C) 7 years (D) 9years

The average of 100 observations is 56. If
each observation is divided by 2, then the
average of these 100 new observations
become
(A) 29

(C) 112

(B) 56
(D) 28
Two persons walk at the rate of 6.5 km
and 5.5 km per hour from the same point

in opposite directions. When will they be
10 kms apart ?

(A) 45 mins.
(C) 50 mins.

(B) 57 mins.
(D) 1 hr. 10 mins.

A merchant buys two types of sand A
and B at Rs. 5.70 and Rs. 6.40

per kg respectively. He mixes them in
the proportion 4 : 3 and sells the mixture
at Rs. 7.20/ kg. His profit /kg is

(A) Rs.6 (B) Rs.1.20

(C) Rs.1.26 (D) Rs.2



51.

52.

53.

54.

55.
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A 371 B 1 HTfYsh 37 1 UG 3: 4 B
3 37t TTfdre sT=d = A 1: 2 )
gfe 1 % =53 i ufir 5. 2,000 ® 41, B
1 Tl 37T =/ gt ?

(A) %. 3,500 (B) %.6,000
(C) %.8,000 (D) %. 4,000

afe ot ot i nfa 15 ot /=2 s
& St 8 a1, 9% 180 forfi 1 gt T &+
o1 U2 FH GEY a1 & | a el i
et fd =R 7

(A) 60 ferdt /=2

(B) 30 fFdft /g2

(C) 45 fordft /==

(D) T & g &

ue faaredt gefisr fomss gt o0 it p
4 39 YR F HEY R, o + B =15 3N
o— B =—7 4, 98 gl g

(A) x2-15x—-44=0

(B) x2—15x+44=0

(C) x>+ 15x—44=0

(D) ¥4 & IS 7
!Tﬁx—y=33ﬂ(§+%=6?ﬁ(x,y)=
(A) (2,3) (B) (6,9)

(C) (9,6) (D) (3,2)

s U1 AgYE % iferRa 2 Fehd
g1

(A) 3¥A
(C) 433

(B) 23
(D) 133

56.

57.

58.

59.

60.
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afz foreft feendt sigue = v = Sirg 3k
U FHYT: — 3 3R 2§ 41, T8 agE ©
(A) X2-3x+2 (B) x2-3x-2
(C) x2+3x+2 (D) %98 4 wrd TE
10 BT Y NET W 6 a9 ® | Afg s |
9 B 1 3 H AN 52 241,10 9 B i
39 1 Bt 7
(A) 6T
() 7ad

(B) 8ad
(D) 9ad

100 J&7UT} =hT 371Ed 56 8 | TS wedeh dervn
@ 2 9 fawrfsm femam ste, & 59 100 F=0
&7l =T 31T fehaeT B s 7

(A) 29 (B) 56

(C) 112 (D) 28

gl =gfFa = w99 @ 6.5 fHHt 3t
5.5 ot wfa o1 Yt nfa & w gt i
frodia feen & =ormn Ry #d & @, fhaa
% =18 a1 U gEl 8 10 fordt  gh
B ?

(A) 45 fie
(C) 50 fae

(B) 57 e
(D) 1% 10 fime

UF R A 3R B & YR FI T FE:
%. 5.70 3%, 6.40 fd Frer hi sx @ @dliean
# of =g # 31 W 4 : 3% ST § e
TR 38 %, 7.20 fd fohell Sl st a=ar B
1, wfa frett 38 foraan ey 2 ?

(A) % 6 (B) % 1.20
(C) % 1.26 (D) %2



61.

62.

63.

64.

65.

66.

67.
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iv) Hindi Language and Comprehension

&t ar aik Ay
ey e =1 vy foR s ® 7 A FumaEE (B)
(A) SwHeT (B) Tormnfesius ©) W D)
(C) yoi fatm (D) %9 e
: 69. Fmfcifad d & FH-Hff yaa=s @ ? ?
Y SA-BTA, B I~ Tehitard 31 37 & gk ok
(A) sFifagH, (B) sHiwd i iy
(C) BHi dcad (D) SFI AT ©) (D)
G TR 7 70. Them #ifsu)
(A) TEFEHEQN (B) T Hed 00 a. GAE l. qﬁﬂl‘ﬂ'ﬁ
(C) TH3EHR (D) ThEEd WE b. HEMY 1. oy ey
e c. Heva I, < |ty
(A) F+A+T+3+H+ 3 g S V. Ty
B) TF+H+F+q+{+A+H+H g o ¢ d
(C) H+T+H+3+T+L+ A+ T+ A (A) | Voo
D) T+B+q+L+3+H+H (B) | \Y] I
: (C) Il \Y, [ 1
:;?::W ® i (D) IV I m
(C) wd (D) =it 71. 39 @ SR 1 fa=deq ®
' (A) S+ (B) I + I
G’ H1 T
(©) s (D) ta 72. “ITelt 1 ST 7 39 R
w2 8 gl w1 B YEited vl & FRE (A) e ferr
(A) FUIHRF  (B) T FH (C) Tt B
(C) HAUEH %REHE (D) TR T (D) e =t
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73.

74.

75.

76.
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Tt T B B 61 3 B
(A) =Ed @ (B) =g Hem
(C) ¥R =B (D) I F R

"G T TS S qeTe - fae s e
& 9 %1 wel fashey @

(A) TESTH 3TH ¢ S (FHuTE aHE
(B) T&9 3R 399 (g5 §HW)
(C) 9o & 3 forga (wgefifz)

(D) 98 ¥ 15 T
e ifso
a. ST |. HeY TeES qHTH
b. w@dfd  Il. 7o EHH
c. 3G |11, 0T TIEY T
d. Fm@a™  |V. it qegey
HHH
a b c d
(A) | I AV
(B) | IV m
(C) Il | [ \Y
(D) 1l I | \Y
faetm ez firem Sifsm
a. g9 . foam
b. g&w Il &=
c. foem . Ty
d. 954 V. T
a b c d
(A) | I [ \Y
(B) IV | m
© v | I
(D) 1l \Y | 1]
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77. Toem fifsw
a. Siog . goft
b. & Il. ==
c. YA . b
d. @ V. &
a b c d
(A) | \Y m oo
(B) Il I | \Y
() I AV
() Iv [ |
78. ‘9gd WIse I widaTTH Gl

79.

80.

(A) sgd

(B) sgamEd

(C) =g

(D) =g

HEl AT g |

(A) T3 3Afe e R |
(B) HYZ I TR |

(C) &gz stforsiy TeU R |
(D) HHR wEd TR |
AT -de BT garar 5 a7 R
(A) 1t T fie a1 B S
(B) g T T

(C) =gd Gl &l

(D) =gaT@ &
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v) English Language and Comprehension
ST AT 3R sy

Add suitable question tag to the following
statement.

81. Tuffy won't stop eating millet, ?
(A) shall he (B) was he
(C) will he (D) is he

Fill in the blanks with the appropriate forms of
the verbs given in brackets.

82. Each officer and each soldier
spoken about the incident. (have)

(A)
(B)
(©)
(D)

has
have
will have

none of these

83. The cost of the apples
(be)
(A) is
(B)
(C)
(D)

high.

are
were

none of these

84. The Presidentand the secretary
to organise a seminar. (want)

(A)
(B)
(C)
(D)

wants
want
were in want

none of these

Select the grammatically apt sentence/s
expressions from among the options given
in each question.
85. (A) Don't repeat your mistake again,
do you ?
(B) We presented him an expensive

waich.
(C)
(D)

| have been crying from morning.

We visited the Taj Mahal the
previous year.

86. (A) The price of this book is inclusive

tax
(B)
(C)
(D)

Meher is a honest person, isn't she ?
Who will answer the question ?

Ramlal hasn’t been invited to the
party, isn't it ?

Choose the best way to complete these
passive voice sentences.

87. Your jacket
(A)
(B)
(&)
(D)

over there.

can be hang up
can hung up

can be hung up
can be hunged up

88. 3000 employees
(A)
(B)
(C)
(D)

were lied off
was letted off
were laid off
were layed off



Fill in the blanks by choosing the correct
connector given among options.

89. A student will fail does not
work hard.
(A) because (B) if
(C) until (D) though

90. He failed in the examination; he
didn't lose heart.
(A) moreover (B) then

(C) while (D) nevertheless

Each sentence below has four parts A, B, C
and D where a part of it has an error. Identify
the error and mark that option letter as your
answer.

91. | came to/know that/his father has died/

(A) (B) (C)
there days ago.
(D)

92. | lived here/for five years/so | know

(A) (B)
about the/problems of this colony.
(€) (D)
93. He has ordered/bricks for the proposed/
(A) (B)
shopping complex./No error
(®) (D)
94. He acted not/as per my advice/but
(A) (B)
somebody else./No error
(©) (D)

17-

95.

96.

97.

98.

99.

100.
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The board of directors/want the facilities/

(A) (B)
of car and accommodation/for itself.
() (D)

He asked for/permission to go to the
(A) (B)
cinema/but his mother/did not give.
(©) (D)

The militant/entered the palace/from the
(A) (B)
utmost gate/with guns hidden in their
(C) (D)
clothes.

She does not have/some money to buy/
(A) (B)

a new refrigerator/so she is worried.
(C) (D)

Being often ill/and frequently absent/she
(A) (B)
had no opportunity to complete his work/
©)
or do much of it in toto.
(D)

He does nothing/but to find faults/

(A) (B)
with others/and laugh at them.
(&) (D)
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SECTION - B
Post Specific Subject — Related Questions

Who amongst the following has defined
Sociology as the “Science of Social
Institutions” ?

(A) Kingsley Davis
(B) Emile Durkheim
(C) Henry Fairchild
(D) Marshal Jones

The term Criminology was first coined
in 1885 by

(A) Hans Eyesenck
(B) Raffaele Garofalo
(C) Henrico Ferri

(D) Jeremy Bentham

Which of the following views development
as shaped by unconscious forces that
motivate human behavior ?

(A) Psychoanalytical perspective
(B) Psychosocial perspective
(C) Behavioural perspective

(D) Biological perspective

Who called the tribes ‘Backward Hindus' ?
(A) V. Elwin

(B) J.H. Hutton

(C) G.S. Ghurye

(D) S.C. Dube

Which of the following is a component
of the criminal justice system ?

(A) Police

(B) Courts

(C) Corrections
(D) All of the above

106.

107.

108.

109.

The first book in case work published in
1917 was

(A) Introduction to social case work
(B) Social Diagnosis
(C) Social case work
(D) Social treatment

Which of the following branches
of sociology is closely associated
with the sentence “the study of the
interrelationship between society and
polity, between social structures and
political institutions” ?

(A) Economic Sociology
(B) Human Ecology
(C) Political Sociology
(D) Medical Sociology

The scientific study of crime and why
people engage in criminal behaviour is
called

(A) Criminal theory
(B) Crime practice
(C) Criminology
(D) Victimology

takes place with the help of
experiences through sensory organs,
observation and memory, arranging
thoughts and by finding solutions to
problems.

(A) Social development
(B) Cognitive development
(C) Moral development
(D) Emotional development
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T - |
ure efafees fawa - gaedt awm

frafafaa 4 @ feaa ausmms i
graferes geenadi & fasm & w9 8 gy
o ?

(A) fFae Sfaa
(B) ufireft gfdhn
(C) T F=EEeS
(D) HIET S=g

yIeg IYUHTE Y8l 9 1885 H
g fea |

(A) T TRHSE
(B) Thet TRl
(C) &Afth it
(D) St sterm

frafafaa 9 @ s9-a1 fawe = se=ad
Sl g7 feU U YRR % ®9 O S@ar & S
THE SHFER # Yieqifed #dr g ?

(A) THTfTeISUITeT g

(B) TGN gfeeshior

(C) BRI gfedehivy

(D) Sifas gfeeahro

sstfera 1 ‘fusen feg’ forem e o ?
(A) =t efesm (B) S.u9. geA
(C) Sft.ug. g (D) TH.Hi. g

Fafafea 4 @ #F-g1 soufis =
JUTTEAT 1 Ueh 51 & ¢

(A) gfeE

(B) =™

(C) gar
(D) I q+f

106.

107.

108.

108.
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*Y 3% § 1917 ¥ TSI deeil geae ot
(A) IIISHH T IS 9 I+

(B) Wiyl SEEIRE

(C) TN T Th

(D) W rere

Frferfaa # & grTeTeTE i -t v
3R T ok et & s STarEes)
HEI F T e ® ?

(A) 3 goTsET

(B) Wa uitfedfa fagm

(C) THIfa gaTSIIE

(D) fafreadia gaswTE

QY F AFF AT A F A
sl gt # fowa 2 €, s
YT FedEl B |

(A) 3T fagma

(B) 3HUUY 37ATH

(C) STTTHITER

(D) difsayms

_ gad o, gdae it gl e
! A Hid 3 G % & ged
& R STE 3 TR ¥ R |

(A) gmTSie

(B) \FHTH fasma

(C) A= famrma

(D) wTaTeHe I
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Who enunciated ‘Panchasheela’ (Five
principles) for the tribal development
in India ?

(A) Verrier Elwin

(B) Jawaharlal Nehru

(C) G.S. Ghurye

(D) Takkar Bapa

A principle of science suggesting that
scientists must not let their values drive
their research endeavours

(A) Reliability
(B) Subijectivity
(C) Objectivity
(D) Measurability

The term Friendly Visitors was first used
in the year through American
Charity Organization Society for its
volunteers.

(A) 1857
(B) 1877
(C) 1887
(D) 1897

Who amongst the following sociologists,
has divided the subject matter of
sociology into statics and dynamics ?

(A) Auguste Comte
(B) Karl Marx

(C) Herbert Spencer
(D) T.B. Bottomore

114.

115.

116.

117.
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The National Policy for Children
identifying right to protection as a key
priority and emphasizing a safe, secure
and protective environment for the
realization of all rights of children was
enacted in the year

(A) 2011
(B) 2012
(C) 2013
(D) 2014

The adolescent phase is marked by
attributes which include

(A) Rapid physical growth
(B) Psychological maturity
(C) Experimentation
(D) All of the above

Which Article in the Indian Constitution
uses the term ‘backward class’' and
speaks of inadequate representation in
services ?

(A) Article 15 (A)
(B) Article 16 (4)
(C) Article 45
(D) Article 46

The Juvenile Justice Act (care and
protection of children) was passed in
the year

(A) 2012
(B) 2013
(C) 2014
(D) 2015
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3 O fFem s S T & fog
Taeiie (9T frgrar) s v R arn ?
(A) dftr ufea

(B) SETETATE &

(C) Sfrum.

(D) 2R AT

fagm &1 g st wear @ & St
39 el G 39 AT e ) =nferd
T & oA =R

(A) Tavagaar

(B) =afaafssar

(C) FEgfeaa

(D) \TgHEET

o8 Hhedl fasied’ Use! g1 e
=@ sriasye giaEd g s
EgEfeE ag Ty T o
T |

(A) 1857

(B) 1877

(C) 1887

(D) 1897

Frafefaa wamsenfEE i @ e aaseme
#1 favgawg &t wifeasl 3 it §
fonfa R 2 2

(A) TR HIE

(B) et HTad

(C) el TEX

(D) . fi. SEmR

114.

115.

116.

117.
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T et fifa S gren F AIE F vw
T WTfiehdl & €9 8 eIl STl @ 3R
Tft a1t AT 1 ST eI 2 U
FfEra o era ramee /SR &t 2, 99
¥ srfufrafim fig |

(A) 2011

(B) 2012

(C) 2013

(D) 2014

et oil g fafea et 2 fored
M 2 |

(A) g YT gha

(B) WA uitasaan

(C) TANTIHRAT

(D) 3o g+

et dfaum # #H-a1 sg=se s
T} Y8 =1 ITANT FAT ® A I
wfafaftrea 37T Gareit i a1d @ & ?
(A) =8 15 (A)

(B) 3TI=T 16 (4)

(C) =3 45

(D) 3TT=3% 46

el =1 I (e i @ 3R
gua) au ¥ e fefam T |
(A) 2012

(B) 2013

(C) 2014

(D) 2015
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119.

120.

121.

29,

According to Richmond the primary step
in case work is to know the personality
of the individual and to study his/her life
closely through

(A) Interpreting (B) Paraphrasing

(C) Interviewing (D) Summarising

“A master plan specifying the methods
and procedures for collecting and
analysing the needed information”
is closely related to the following
concept

(A) Sampling
(B) Case study
(C) Research design
(D) Research report

The Government of India’s recognition
of need for investing in child protection
was first articulated in the document
‘India- Building a Protective Environment
for Children® was published by

(A)
(B)

Ministry of Social Justice

Ministry of Women and Child
Development

(C)
(D)

Ministry of Law and Justice
None of the above

According to Bronfenbrenner the child
experiences cognitive development
in the context of a complex system
of relationships including parent-child
interaction which is called

(A) Microsystem (B) Mesosystem

(C) Exosystem (D) Macrosystem

122.

123.

124.

125.
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Which of the following answers is
associated with Lopamudra, Gargi,
Sulabha and Sasvati ?

(A) Women scholars
(B) Women players
(C) Women rulers
(D) Women traders

Children in Need of Care and Protection
(CNCP) include

(A) Rehabilitation
(B) Restoration
(C) Re-integration
(D) All of the above

It refers to any distortion of a present
relationship because of unresolved
(and mostly unconscious) issues left in
excess from early relationship

(A) Resistance

(B) Counter transference
(C) Ambivalence

(D) Transference

“This relationship between the
‘servicing’ and the ‘served’ castes was
not contractual....... or limited but it was
caste-oriented, long termed and broadly
supportive” is closely related to the
concept

(A) Ashrama dharma

(B) Jajmani system

(C) Zamindari system

(D) Casteism
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f=e & IguR 8 9% d Wi =
=fFa & Afaded &l TAAT 3R 30 /I
Eiccica % wegg § Freean
HATA R |

(A) SATEET AT
(C) HTETHR

(B) wfeream samean
(D) Heu

““gifea guaT I T iR favafia F@
o foru faferat et wfsrnat =1 ffde @
arefl g A fefofaa & @ e
HehoT T & e 7

(A) wfc==A

(B) TTHEAT 31ETTH

(C) gy festrsa

(D) 3rgaar frard

a1t Geaw 7 S it STavgedr # 9
G ht UTdT Yaei! SR STd -dTereh o
fore we gefera amarator =1 fwfor swmEs
dffeafrnmn, sife smovwleE
AT 7T 97 |

(A) AT = 5

(B) wieen ud sret fershm darer
(C) fafer va =mg e

(D) 3 4 & IS Te

SBASE  FAFER 1T Gad] * wed
T % e § "y faw A sreE
Ftar ¢ foad grar-fuar o ses #i
ITAFN MAEE  FEAd R |

(A) g&quoefl  (B) HeF HomTelt
(C) srymet (D) & gored!

122.

123.

124.

125.
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fr=fetaa & - st g, i,
g it gt 8 gefie § 7

(A) Hfgen fagmH

(B) iz faw

(C) wfgen waH

(D) Hfee ST

@t i e i SFTEaEEHAET Ao
(CNCP) # wnfies 8

(A) FAatE

(B) FAsife

(C) gFeHTHEH

(D) 3% &+t

7% froe fog @ sgama ¥ s=t smgesh
(ATURIST: Y= ) THRATSAT & HRUT T
A fizd # 9o 8 wefild
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In which year was the Convention on the
Rights of the Child (UNCRC) adopted
solely to children, thereby making it
the most powerful and comprehensive
instrument available for them ?

(A) 1986 (B) 1987
(C) 1988 (D) 1989

Selection of Simple Random Sampling
can be done by which of the following
methods ?

(A) Lottery method

(B) Use of table of random numbers
(C) Grid system

(D) All of the above

In which period Indian women had to
severely suffer from problems, evils and
inhuman practices ?

(A) Vedic period
(B) Epic period
(C) Medieval period
(D) Buddhist period

Rightto be protected from any hazardous
employment is upto the age of

(A) 12 years
(B) 14 years
(C) 16 years
(D) None of the above

The medium through which changes are
brought in the behaviour and personality
of the client is

(A) Attitude

(B) Learning
(C) Relationship
(D) Skill
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132.
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Who amongst the following has used
the term ‘power elite’ for the ‘political
elite’ ?

(A) Vilfredo Pareto

(B) Floyd Hunter

(C) Wright Mills

(D) Lasswell

The key proponent of the Social
Disorganisation Theory is

(A) Clifford R. Shaw
(B) Cesare Lombroso
(C) Robert Merton
(D) Emile Durkheim

One of the following is not a principle of
Social Case work

(A) Acceptance
(B) Individualisation
(C) Communication

(D) Judgemental attitude

Which of the following Acts that

gives protection to women from being

kidnapped and compelled to become

sex workers ?

(A) The Special Marriage Act of 1954

(B) The Suppression of Immoral Traffic
of Women and Girls Act of 1956

(C) The Hindu Succession Act of
1956

(D) The Family Court Act of 1984
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The emphasises active
participation by community agencies
and citizens in an effort to contain the
harmful behaviour of young people.

(A) Participatory Model

(B) Due Model

(C) Multi-dimensional Model
(D) Primary Model

The preservation of the secret information
concerning the client, which is disclosed
in the professional relationship only is
called

(A) Catharsis
(B) Ventilation
(C) Empathy
(D) Confidentiality

Which of the following are the
characteristics of alienation ?

(A) Differentiation and change
(B) Powerlessness and isolation
(C) Co-operation and conflict
(D) Mobility and disequilibrium

One of the three elements of deterrence
is

(A) Rationality

(B) Uncertainty

(C) Severity

(D) None of the above

Which of the following factors also play
a role in bringing about social change ?

(A) Emotional
(B) Psychological
(C) Cultural

(D) Biological
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Which of the following programmes is

more closely associated with the task

of promoting self employment in rural

areas by providing productive assets,

inputs and credit facilities to the poor ?

(A) TDP 1959 (Tribal Development
Programme)

(B) DPAP 1979 (Drought Prone Area
Programme)

(C) DDP 1977 (Desert Development
Programme)

(D) TRYSEM 1979 (Training Rural
Youth for Self-Employment)

Internationally it has been accepted that
Juvenile Justice must be based on

(A) Gender

(B) Legal Rights

(C) Best interest of the child
(D) None of the above

The diagnostic school is basically founded
on the of psychoanalysis.

(A) Freudian theory

(B) Cognitive theory

(C) Functional theory

(D) Psychological theory

Who amongstthe following sociologists, is
called the founder of ‘Phenomenological
Sociology’ ?

(A) Alfred Schutz

(B) Edmund Husserl

(C) Karl Mannheim

(D) Max Weber
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The goals of criminal justice system
is to

(A) Prevent crime

(B) Maintain justice

(C) Control crime

(D) All of the above

Inattention is caused by the absence
of objective and subjective factors that
determine one’s attention. Identify the
appropriate factor.

(A) Age

(B) Gender

(C) Lack of interest

(D) Status

Trace the main objects of the Panchayati

Raj in India.

(A) Westernization, Modernization and
Urbanization

(B) Democratization, Decentralization
and Modernization

(C) Urbanization, Localisation,
Modernization

(D) Secularization, Westernization
and Sanskritization

The person who used spatial mapping
to examine the residential locations of
juveniles referred to court

(A) Clifford R. Shaw
(B) Henry D. McKay
(C) Both (A) and (B)
(D) Friedrich Engels

Psycho-social theory was propounded
through

(A) Leon Fistinger
(B) Lev Vygotsky
(C) Carl Jung
(D) Hamilton
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151.
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In Robert K. Merton’s typology of modes
of individual adaptation, the rejection
of cultural goals and acceptance of
institutionalised means leads to

(A) Conformity
(B) Ritualism
(C) Innovation
(D) Retreatism

One of the following is called as the
father of Victimology

(A) Jeremy Bentham

(B) Cesare Lombroso

(C) Benjamin Mendelsohn
(D) Enrico Ferri

The ability to imagine oneself in
someone else’s situation and to feel
some of what that person may be
experiencing is called

(A) Emotional intelligence

(B) Tolerance

(C) Empathy

(D) Ciritical thinking

“The changes in technology, institutions,
ideology and values of a non-western
society as a result of cultural contact
with the western society for a long

period” — is closely associated with the
concept

(A) Westernisation
(B) Secularization
(C) Sanskritization
(D) None of the above
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It clearly describes their right to not
participate and right to withdraw, before
their responses in the study can be
recorded

(A) Subject information
(B) Informed consent
(C) Participation

(D) None of the above

Theory is based upon the principles of
learning and conditioning propounded
through Pavlov and Thorndike

(A) Behaviour modification
(B) Social control

(C) Both (A) and (B)

(D) None of the above

Who amongst the following, is the
author of the book “Human Nature and

The Social Order” ?
(A) G.H. Mead

(B) C.H. Cooley
(C) Francis Abraham
(D) J.H. Morgan

It refers to the order by the court to be
paid to the victims by the offenders

(A) Restitution

(B) Compensation
(C) Both (A) and (B)
(D) None of the above

Identify the psychologist who called the
adolescent stages as “Period of storm
and stress”.

(A) Lewis Terma
(B) Arnold Gesell
(C) Henry Goddard
(D) Stanelly Hall
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Who said that in the process of
westernization, its ramifications
can be analysed at different levels
such as primary westernization and
cultural modernization (Secondary
Westernization) ?

(A) M.N. Srinivas
(B) Zitterbergs

(C) Daniel Lerner
(D) Yogendra Singh

It focuses primarily on crime and
criminals in an effortto understand and
explain behaviour

(A) Criminal justice
(B) Criminology
(C) Juvenile justice
(D) Crime law

The theory was propounded through
Helen Harris Perlman

(A) Social swap theory

(B) Social disorganisation theory
(C) Problem Solving Theory

(D) Field theory

Talcott Parson’s theory of ‘Functional
Prerequisites’ includes the following
(A) Adaptation, Assimilation, Acculturation
and Goal Attainment
Adaptation, Goal Attainment,
Integration and Pattern Maintenance
Adaptation, Differentiation,
Integration and Assimilation
Adaptation, Goal Attainment,
Equilibrium and Pattern

Maintenance

(B)
(€)

(D)
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Key Priority Area in the National Policy
for Children is

(A) Survival, Health and Nutrition
(B) Education and Development
(C) Protection

(D) All of the above

The first and most important step in an
Interview is

(A) Selective listening
(B) Establishing rapport
(C) Asking questions
(D) Focus on solutions

Who amongst the following is the author
of the book “Religion and Society among
the Coorgs of South India” ?

(A) Andre Betrille
(B) M.N. Srinivas
(C) Louis Dumont
(D) T.K. Oommen

A group of women in slums who want
to know in relation to the reproductive
and child health is an example of

(A) support group
(B) educational group
(C) growth group
(D) socialisation group

The play stage in Mead's theory refers
to

(A) Stage of imitative acts

(B) Assuming various roles of significant
others

(C) Developing capacity to take the role
of others

(D) None of the above
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The Protection of Children from Sexual
Offences (POCSO) Act was enacted in
the year

(A) 2010
(C) 2012

(B) 2011
(D) 2013

It employs multiple methods for
collecting information such as interview,
observation and psychological tests
from a variety of respondents.

(A) Questionnaire
(B) Case study
(C) Free listing
(D) Focus group

Which of the following Sociological
concepts, is closely associated with the
process of Sanskritization ?

(A) Process of Downward Mobility
(B) Process of Horizontal Mobility
(C) Process of Upward Mobility
(D) None of the above

It means that behaviour is caused or
influenced by preceding events

(A) Determinism
(B) Skepticism
(C) Parsimony
(D) Neutrality

The primary purpose of treatment group
is

(A)
(B)
(C)
(D)

socialization
education
therapy

all of the above
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Who said that ‘The history of all hitherto
existing society is the history of class
struggles’ ?

(A) C. Wright Mills
(B) Karl Marx

(C) Lavis Coser
(D) Waschburn

Juvenile Justice (Care and Protection)
Act (child) is applicable upto the age

(A) 15 years (B) 16 years
(C) 17 years (D) 18 years

The psychologist Edward Lee Thorndike
was the initiator of the theory of

(A) Classical conditioning
(B) Operant conditioning
(C) Social learning

(D) Trial and error learning

“What was previously regarded as
religious is now ceasing to be such and
it also implies a process of differentiation
which results in the various aspects of
society, economic, political, legal and
moral becoming increasingly discrete
in relation to each other” — is closely
associated with the concept ?

(A) Urbanization
(B) Localization
(C) Secularisation
(D) Modernization

Which of the following general principle
need to be followed in administration of
J.J. Act 2015 ?

(A) Participation
(B) Safety

(C) Equality

(D) All of the above
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It refers to the words you say and the
actions you take when introducing
clients to a new way of looking at some
aspect of themselves, the problem or
the situation

(A) Confronting (B) Interpreting

(C) Summarising (D) Reframing

‘It denotes a socio-psychological
condition of the individual which involves
his estrangement from certain aspects
of his social existence’, is closely
associated with the concept

(A) Assimilation (B) Alienation
(C) Politicization (D) Socialisation

The most important and comprehensive
children related law in India is the

(A) Juvenile Justice Act

(B) Right to Free and Compulsory
Education Act

Child and Adolescent Labour Act
Child Marriage Prohibition Act

(C)
(D)

helps in the insightful solution
of problem.

(A) Past experience

(B) Individual efforts

(C) Learning situation

(D) All of the above

“Modernisation raises the aspirations
of people but social systems fail to
provide opportunities to them to achieve
their aspirations, creating deprivations

and frustrations” — It is associated with
the following

(A) Prerequisites of modernization
(B) Measures of modernization
(C) Problems of modernisation

(D) Characteristics of modernisation
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The Commission for Protection of Child
Rights Rules was passed in the year

(A) 2004 (B) 2005
(C) 2006 (D) 2007

It refers to status, rights and duties of
group members

(A) norms
(C) roles

(B) cohesion
(D) valence

Who amongst the following is the author
of the book ‘The Elementary Structures
of Kinship’ ?

(A) lravati Karve (B) Levi-Strauss
(C) L.H.Morgan (D) W.H.R. Rivers

The model emphasizing applying the
law over treating the juvenile, stressing
on when and how the law is used if a
juvenile is involved is called

(A) Due process

(B) Involvement model
(C) Single process
(D) Multiple model

One of the following is not a cultural
attribute.

(A) Conformity
(C) Traditions

(B) Values

(D) Attitude

Who amongst the following is the author
of the book ‘Modernisation of Indian
Tradition’ ?

(A) Yogendra Singh

(B) Surajeet Singh

(C) K.S. Singh

(D) S.S. Singh
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Which of the following is a Care
Institution for pending enquiry ?

(A) Shelter home

(B) Adoption agency

(C) Observation home

(D) Special home

The theory which attempts to understand
the group as a system of interacting
elements

(A) Field theory

(B) Sub-cultural theory
(C) Systems theory
(D) Social theory

In Kinship behaviour/usage, the
relationship of mother’s brother is
termed as

(A) Teknonymy
(B) Awvunculate
(C) Amitate
(D) Couvade

Juvenile Justice must be based on
(A) A rights based approach

(B) Best interest of the child

(C) Right of the child to be heard
(D) All of the above

Psychoanalysis is a system or school
of psychology was the brain child of

(A) Jean Piaget

(B) Albert Bandura
(C) William James
(D) Sigmund Freud
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“Itis the current term of an old process of
social change whereby less developed
societies acquire the characteristics
common to more developed societies”
— it is more closely associated with the
concept

(A) Industrialisation

(B) Modernisation

(C) Nationalism

(D) Westernisation

Child alleged and found to have
committed an offence who has not
completed 18 years on the date of
commission of the offence is termed

as
(A) Child in need of care and protection
(B) Child in conflict with law

) Both (A) and (B)

)

None of the above

(C
(D

A very useful tool for portraying the
social context because it provides
a diagrammatic representation of a
person’s social world

(A)
(B)
(C)
(D)

genogram
ecogram

ecomap

none of the above

Which of the following terms, is closely
associated with the term ‘pressure
group’ 7

(A) Interest group

(B) Out-group
(C) Reference group
(D) Primary group
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The theory which proposes that both
criminal and conforming behaviors are
acquired, maintained or changed by the
same process of interaction with others.
(A) Social control

(B) Social learning

(C) Social cultural

(D) Social disorganisation

It refers to the capability of individuals
to recognize their own emotions and
those of others.

(A) Social intelligence

(B) Emotional intelligence

(C) Empathy

(D) Multiple intelligence

“It is the movement of individuals
and groups between different socio-
economic positions” — is termed as

(A) Social movement

(B) Social mobility

(C) Dysfunctions of mobility
(D) Closed class system

It includes those offences for which
imprisonment between 3 to 7 years
have been provided

(A) Petty offences
(B) Serious Offences
(C) Heinous Offences
(D) Al of the above

The group where members who come
together in a spontaneous fashion on
the foundation of naturally occurring
events, interpersonal attraction or the
mutually perceived needs of member

(A) Natural group
(B) Encounter group
(C) Therapy group
(D) Remedial group
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In Robert K. Merton's ‘Moral imperatives
of science’ the ‘Norm of Disinterestedness’
refers to

(A)
(B)
(C)

Ownership of findings
Questioning results

Scientists should be free from self-
interests

(D)

Universal nature of findings

In case of conviction, the child should
be placed in which of the following care
institution ?

(A) Special Home
(B) Observation Home
(C) Shelter Home

(D) After Care Home

Which of the following environmental
factors affect learning ?

(A) Relationship with teachers/peers
(B) Media of teaching and learning
(C) Social surrounding

(D) All of the above

Which of the following is associated
with the characteristic of the
commercialisation of production and
the disappearance of a subsistence
economy ?

(A) Tribal society
(B) Rural society
(C) Industrial society

(D) None of the above
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Which of the following principle involves
the two aspects - diversion from what
and diversion to what ?

(A) Principle of diversion

(B) Principle of equality

(C) Principle of innocence

(D) Principle of dignity and worth

In the group work, if a program has to
be of maximum value

(A) It should be person centered
(B) It should meet specific needs

(C) Itshould develop out of interest and

needs of members

(D) All of the above

A.R. Radcliffe Brown belongs to

(A) School of structural —
functionalism

(B) School of phenomenology
(C) School of psycho-analysis
(D) School of ethnomethodology

The most important scheme initiated as
part of the Eleventh Five Year Plan for
implementation of the J.J. Act, 2015

(A) Integrated Child Protection Scheme
(B) Criminal Justice Scheme

(C) Both (A) and (B)

(D) None of the above

It begins with a further elaboration of the
problem by the client giving the worker
a better perspective and understanding
of the problem.

(A) Study
(C) Recording

(B) Assessment
(D) Intake
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In the process of rural-urban migration, if

the migrants hang on to their rural base
and migrate repeatedly and for varying
durations, either to the same urban area
or to different ones — it is called

(A) Translocatory migration
(B) Circulatory migration
(C) Emigration

(D) Step migration

One of the most important roles of the
District Administration based on orders
of the CWC is with respect to

(A) Restoration

(B) Rehabilitation
(C) Both (A) and (B)
(D) None of the above

In which approach to learning theory,
behaviour becomes associated with a
stimulus ?

(A) classical approach
(B) social approach

(C) operant approach
(D) none of the above

The number of persons living per square
kilometre is known as

(A) Life expectancy

(B) Dependency ratio

(C) Density of population

(D) Distribution of population

The theory which argues that crime
occurs when there is a gap between the
cultural goals of a society

(A) Sub-cultural Theory
(B) Social Control Theory
(C) Strain Theory

(D) Rational Choice Theory
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Major function of motivation in learning
is

(A) To help capture attention

(B) To direct behavior

(C) To help in acquiring knowledge
(D) All of the above

The migration of agricultural labourers
from Bihar to work in the towns of
Punjab is an example for

(A) Urban to urban migration
(B) Rural to rural migration
(C) Rural to urban migration
(D) Urban to rural migration

The most important component is the
individual care plan for each child based
on the specific needs of the child is
identified through which of the following
needs assessment ?

(A) Physical

(B) Social

(C) Psychological
(D) All of the above

The purpose of group work with the
aged is o

(A) To raise the self-esteem of the
participants

(B) To establish a group bond that
may replace the warmth of family

relationships
Both (A) and (B)
None of the above

(C)
(D)
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The modified and changed programme
title of ‘National Population Policy, 2000’
is

(A) Community Welfare Programme
(B) Rural Welfare Programme

(C) Urban Welfare Programme

(D) Family Welfare Programme

The key component of social bond is/
are

(A) Involvement
(B) Attachment
(C) Commitment
(D) All of the above

The case worker attempts to classify the
client by the nature of his problem. He
identifies certain forms and qualities of
client’'s personality, maladaptation and
malfunctioning in his behaviour.

(A) Dynamic diagnosis

(B) Etiological diagnosis

(C) Clinical diagnosis

(D) Social diagnosis

Who amongst the following has identified
the characteristics of urbanism and urban

system as Transiency, Superficiality,
Anonymity and Individualism ?

(A) Ruth Glass
(B) Kingsley Davis
(C) Anderson

(D) Louis Wirth
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One of the following is included in the
Standards of Care and Protection in
Child Care Institutions (CCI)

(A) Separate facilities for children
up to the age of 10 years with
appropriate facilities for infants
Child Care Institutions shall
be child-friendly and in no way
resemble a jail or lock-up
Separate children’s homes for boys
and girls in the age group of

10 —- 14 years

(D) The Child Care Institutions for CICL

and CNCP shall function at the
same premises

(B)

(C)

The initiated surveillance for HIV
infection in India in late 1985

(A) Indian Council of Medical
Research

Indian Council of Social Science
Research

National AIDS Control Organisation
All of the above

(B)

(C)
(D)

When the farms or cultivated lands
are spread around the dwellings, such
villages are called

(A) Nucleated villages
(B) Dispersed villages
(C) Village solidarity

(D) Land tenure system

The goal of research is to know the
magnitude or extent of a particular
phenomenon, problem or behaviour is
called

(A) Descriptive research
(B) Explanatory research
(C) Exploratory research
(D) Diagnostic research
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The scores of intelligence reveal the
(A)
(B)
(C)
(D)

Mental age of a child
Readiness of child for learning
Both (A) and (B)

Understand the interest of the
child

Who defined caste “as a system of
stratification in which mobility up and
down the status ladder, atleast ideally
may not occur” ?

(A) A\W. Green

(B) C.H. Cooley

(C) T.N. Madan

(D) Herbert Risley

Measurable representations of abstract
constructs are called

(A) Concepts
(B) Variables
(C) Prepositions
(D) Theories

The theory which has a significant
power on group work practice

(A) Psychoanalytic theory
(B) Systems theory

(C) Psychodynamic theory
(D) Social learning theory

‘Tarawad’ is an example for
(A) Patrilineal joint family
(B) Matrilineal joint family
(C) Bilineal family

(D) Patronymic family
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The process of theory or model
development may involve reasoning is
called

(A) Inductive

(B) Deductive

(C) Both (A) and (B)

(D) None of the above

A stage when the client can lookback

with satisfaction on what has been
accomplished.

(A) Evaluation

(B) Termination

(C) Both (A) and (B)

(D) Negotiation

The Caste Disabilities Removal Act of
1850 is associated with

(A) Legalising inter caste and religious
marriage

(B) Removal of disabilities and
untouchability

(C) Establishment of caste
panchayats

(D) Caste stability

The research which seeks explanations
of observed phenomena, problems or
behaviors

(A) Diagnostic research
(B) Descriptive research
(C) Exploratory research
(D) Explanatory research

The role of voluntary organisations to
help and support HIV/AIDS affected
or infected children, families and other
dependents from becoming

(A) Victims of separation

(B) Discrimination

(C) Both (A) and (B)

(D) Establish separate groups
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The corporation one which owns or
manages businesses in two or more
countries is known as

(A) Multi-national corporations
(B) National corporations

(C) Transnational corporations
(D) None of the above

It refers to our assumptions about how
we see the world

(A) Epistemology (B) Ontology
(C) Empiricism (D) Recidivism
The main objectives of case work

treatment are ‘To conserve clients
strength’

(A) To prevent social breakdown

(B) To restore social functioning

(C) To identify social problems

(D) Both (A) and (B)

Which of the following legislations is
related to the J.J. Act ?

(A) The Protection of Children from
Sexual Offences Act, 2012

(B) The Commission for Protection of
Child Rights Rules, 2006

(C) The Right of Children to Free and
Compulsory Education Act, 2009
(D) All of the above

Critical research also called critical
theory was propounded by

(A) Kurt Lewin

(B) Max Horkheimer
(C) Deng Xiaoping
(D) Dickson R.
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The type of research often conducted
in new areas of inquiry, where the
goals of the research are to scope out
the magnitude or extent of a particular
phenomenon, problem or behavior

(A) Exploratory (B) Descriptive
(C) Experimental (D) Explanatory

Acharya Vinoba Bhave is closely related
to the concept

(A) Green Revolution
(B) Bhoodan Movement
(C) Tribal Movement
(D) Rozgar Yojna

Which of the following is a paradigm of
social science research ?

(A) Interpretivism

(B) Radical Structuralism
(C) Radical Humanism
(D) All of the above

Groups formed by people working
together in a firm or people that belong
to the same club is considered as

(A) Formal social system
(B) Informal social system
(C) Non-formal social system
(D) None of the above

Among Hindus ‘Sagotra’ Marriage is
(A) Permitted

(B) Prohibited

(C) Encouraged

(D) None of the above

It is a concept that explains the

breakdown of social norms that often
accompanies rapid social change

(A) Conflict (B) Anomie
(C) Frustration (D) Behaviour
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Some of the significant factors that
cause environmental degradation

(A) Deforestation

(B) Population growth

(C) Modern Technology

(D) All of the above

Naxalbari movement refers to
(A) Women's movement
(B) Environment movement
(C) Peasant movement

(D) Consumer movement

One of the key theories to emerge from
this branch of criminology is
associated with the work of Cornish and
Clarke in 1986.
(A) Social Disorganisation Theory
(B) Rational Choice Theory
(C) Social Control Theory

)

(D) Strain Theory

It involves obtaining the opinions of
experts physically distant from each
other and unknown to each other.

(A) Brainstorming

(B) Didactic technique

(C) Nominal group thinking

(D) Delphi technique

“Legally forbidden and intentional
action, which has a harmful impact on
social interests, which has a criminal
intent and which has legally prescribed

punishment for it” — is associated with
the concept

(A) Juvenile Delinquency
(B) Prohibition policy
(C) Crime

(D) None of the above
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One of the following is not a key
component of social bond

(A) Attachment
(B) Involvement
(C) Belief

(D) Personality

A leader emerges, the causes of
discontent are recognized, excitemrent
increases and proposals for action are
debated. This stage is called

(A) Discontent stage
(B) Initiation stage

(C) Formalization stage
(D) None of these

The National Commission for Women
(NCW) was set up in

(A) January 1992
(B) February 1993
(C) January 1990
(D) March 1994

In field surveys, indepenclent
and dependent variables are measured
at the same point in time.

(A) Cross-sectional
(B) Longitudinal

(C) Both (A) and (B)
(D) None of the above

One of the following is not an attribute
of intelligence.

(A) Level
(C) Range

(B) Area
(D) Power
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If the period of enforced idleness
remains minimum, it is termed as

(A) Unemployment
(B) Full employment
(C) Under employment
(D) None of the above

Inductive research is also called
(A) Theory testing research
(B) Theory building research
(C) Theory practice research
(D) None of the above

It refers to our assumptions about
how we see the world, e.g., does the
world consist mostly of social order or
constant change

(A) Epistemology
(B) Structuralism
(C) Ontology

(D) Functionalism

The feminists who see society as
patriarchal it is dominated and ruled by
men. They tend to believe that women
have always been exploited and that
only revolutionary change can offer
to possibility of their liberation. This
feministic approach is known as

(A) Marxist feminism

(B) Liberal feminism

(C) Radical feminism

(D) Postmodern feminism
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This refers to an individual receiving

something of value for committing a
certain act. This may include things
such as money, food or approval.

(A) Observational learning
(B) Social learning

(C) Positive reinforcement
(D) Negative reinforcement

Which of the following signs are most
often seen in a dehydrated child ?

(A) Eyes sunken

(B) Tongue and mouth dry
(C) Skin sticky

(D) All of the above

Detoxification is associated with
(A) Prohibition

(B) Treatment of Alcoholics
(C) Alcohol Abuse

(D) Anti-liquor movement

According to this theory, individuals not
only decide to commit crime, but decide
when and where to commit crime

(A) Social control theory
(B) Subcultural theory
(C) Rational choice theory
(D) Strain theory

Inthe ___ phase, we test our theories
using a scientific method through a
process of data collection and analysis
and in doing so, possibly modify or
extend our initial theory.

(A) rationalization phase

(B) observation phase

(C) validation phase

(D) exploration phase



3

259.

260.

261.

262.

I AT AT il afe Fan s+ g3
%, 38 Fed &

(A) SISO

(B) o TSR

(C) 319 TS

(D) 37 & S T

AT e off shweren 81
(A) Torgia ghiewr sgEyaH

(B) fogra fwfar srgeeam

(C) TozTa sremg sgEy™

(D) 3 & I3 e

I8 B qEgrn & o en e R ded &
I fova afereieTe: wrafSen etewr n fiad
IiEd A= 2

(A) TR

(B) G=ATETE

(C) warHiTET

(D) WeraTE

3 Friardt st auTs i fgawas &9 °
T@d & for 78 T g wfia @ et a & weh
2 | 3 Tawama =t 2 o ferdl =6 a2a e
§31 & 3T haet sHifahi! TiaeH & 3eh!
qfed s GWE 3 WA © | T8 AREre
o Feerdl 2 |

(A) HEdarE! arETE

(B) HFd ARIATE

(C) 3uAramE

(D) SRy THiaTR

263.

264.

265.

266.

267.

MKG-XXXI/TECHWO/1T/01

a1 v AR 2T o A ) e 3w
THYF I A F Hefild } | 36 A,
IS A1 ATAIGA SrEft Feqd it € |
(A) TEE STEEA

(B) @S T894

(C) HeRRIcH GEIH

(D) HIICH: G@IHLUI

Frferfad § 8 -8 v fsieliea e
T TR <@ 9 © -

(A) st 317d

(B) Tt Sfiw 3 q@

(C) faufadt &=

(D) o gt

forweor forer®l e @ 7
(A) fade
GRGUERIEIERIE]
(C) RIS &I T

(D) s femieft svigiem

34 gl & sigan, =fF 7 Faa Ty
A o1 Tt ot € it ST shet 3 el
F1 7, T8 oft fofa o 8
(A) TmTfSTeR e fagra
(B) SuaTEHfaeh fagrd
(C) =maeTh g frgra
(D) fia=ma fagma

=T 8, Hener wwoT 3 favermur
it Uk ST o HIEAH § Uk ATieh (18 o
TR SR 19 sl i SiTE e B IR
UGT FF B9 310 AR gl & evaa;
TN 1 forga e € |
(A) STIERIFHT 0T
(B) TRidEvT =]
(C) Serahtor =
(D) 3T=9uy =]



&35

268.

269.

270.

271.

-54-

Using a plurality of methods or combining
quantitative and qualitative research is
called

(A
(B
(C
(D

) Serendipity

) Triangulation

) Participatory method

) Postmodern ethnography

An in-depth investigation of a problem
in one or more real-life settings (case
sites) over an extended period of time
is called

(A) Action research
(B) Case research
(C) Formative research
(D) All of the above

Cerebral palsy is a condition in which a
child’s brain is damaged

(A) before birth
(B) during birth

(C) shortly after birth
(D)

)
)

—

all of the above

Who amongst the following has defined
scheduled castes as ‘those groups
which are named in the scheduled caste
order in force from time to time’ ?

(A) D.N. Majumdar
(B) B.R. Ambedkar
(C) G.S. Ghurye
(D) M.N. Srinivas
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____is a representation of all or
part of a system that is constructed to
study that system.

(A) A model
(B) A theory
(C) A concept

(D) A paradigm

is an often overlooked but
extremely important part of the research
process. It helps detect potential
problems in your research design.

(A) Pretesting

(B) Pilot testing

(C) Preliminary testing
(D) Simple testing

Which of the following types of suicides,
is associated with ‘excess integration or
sacrificing life, out of a sense of duty to
others’ ?

(A) Fatalistic suicide
(B) Anomic suicide
(C) Altruistic suicide
(D) Egoistic suicide

It is an interpretive research design
inspired by anthropology which
emphasizes that research phenomenon
must be studied within the context of its
culture.

(A) Phenomenology

(B) Grounded

(C) Narrative

(D) Ethnography
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The leadership has the ability to affect
employee's perceptions through the
returns that organization gets in the
form of human capital benefits.

(A) Transactional leadership
(B) Participative leadership

(C) Transformational leadership
(D) Autocratic leadership

Who amongst the following is associated
with the words ‘Symbol of the great
revolt against all the oppressive features
of Hindu Society' described by Pandit
Nehru ?

(A) Mahatma Gandhi

(B) Rajaram Mohan Roy
(C) Dayananda Saraswati
(D) B.R. Ambedkar

The dependent variables are measured at
a later point in time than the independent
variables in field surveys.

(A) Cross sectional
(B) Longitudinal

(C) Experimental

(D) None of the above

Research that involves bringing in a
small group of subjects (typically 6 to
10 people) at one location and having
them discuss a phenomenon of interest
for a period of 1.5 to 2 hours

(A) Action research

(B) Formative research
(C) Exploratory research
(D) Focus group research
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The scientific developments that
are concerned with communication,
language, information storage,
computerised machines and control
over knowledge, are associated with
the concept

(A) Modernisation
(B) Postmodernisation
(C) Premodernisation

(D) None of the above

It refers to the degree to which the
findings are applicable or useful to
theory, practice and future research.

(A) Credibility

(B) Transferability
(C) Confirmability
(D) None of the above

is an excellent method for
bridging research and practice.

(A) Case research
(B) Action research
(C) Focus group research

(D) Experimental research

It measures rank-ordered data, such as
the ranking of students in a class

(A) Interval scales
(B) Ordinal scales
(C) Binary scales
(D) Ratio scales
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A research technique where the
researcher begins the research with
the few respondents who are known
and available to him or her and then, in
turn they give more new names — it is
known as

(A) Multi-stage sampling

(B) Purposive sampling

(C) Quota sampling

(D) Snowball sampling

A thorough representation of the
phenomenon of inquiry and its context
as perceived and experienced by study
participants.

(A) Thick descriptions

(B) Reflexivity
(C) Member checking
(D) Peer debriefing

A special type of content analysis where
the researcher tries to “interpret” the
subjective meaning of a given text within
its socio-historic context is called

(A) Sentiment analysis
(B) Productive analysis
(C) Hermeneutic analysis
(D) None of the above

In this technique, the sampling frame
is ordered according to some criteria
and elements are selected at regular
intervals through that ordered list

(A) Simple random sampling
(B) Stratified sampling

(C) Cluster sampling

(D) Systematic sampling
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In sociology of media, the term
‘polysemic’ refers to

(A) Each media message or text is
capable of being interpreted in a
variety of ways

Media which tends to concentrate
on newspapers and television only
Mixed and widely dispersed
audiences

Technologies which are relatively
cheap to produce and purchase

(B)
(C)

(D)

A leader who does not directly supervise
employees and fails to provide
regular updates to those under his
supervision.

(A) Laissez-Faire
(B) Autocrative

(C) Participative
(D) Transactional

This refers to the actual, perceived,
expected, tangible or intangible rewards
or punishments conveyed upon an
individual by society or a subset of
society

(A) Social Reinforcement
(B) Social Structure
(C) Social Learning
(D) Social Interactionism

A method of intensively studying a
phenomenon over time within its natural
setting in one or a few sites

(A) Phenomenology
(B) Case research

(C) Ethnography

(D) Grounded research
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‘Social stratification results from
a struggle for scarce resources in
society. This struggle is being primarily
concerned with economic resources. It
can also involve struggles for prestige
and for political power’. This perspective
about social stratification is associated
with

(A) Karl Marx

(B) Max Weber

(C) Melvin M. Tumin

(D) Kingsley Davis

Collecting data from multiple sources
such as interviews, focus groups and
interviews is called

(A) Observer triangulation
(B) Data triangulation
(C) Single triangulation
(D) All of the above

The view that voluntary actions and
decisions made by an individual are
influenced and shaped by punishments
and rewards found in the external world
is called

(A) Operant Conditioning
(B) Social Conditioning
(C) Classical Conditioning
(D) Habituation

Theresearchthat hasitsroots inanthropology,
sociology and psychology

(A) Positivist

(B) Formative

(C) Interpretive

(D) Cross sectional
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A rule of marriage in which an individual
has to marry outside his or her own
group is called

(A) Endogamy

(B) Homogamy

(C) Hypergamy

(D) Exogamy

It includes judgement, knowledge and
fluency in speech. It is termed as

(A) Physical trait

(B) Ability trait

(C) Personal trait

(D) Social trait

An element of containment theory
thought to be responsible for insulating
an individual from criminal activity

(A) Self control

(B) Social control

(C) Self concept

(D) None of the above

The is the simple average
of all the values in a given distribution.
(A) Median

(B) Mode

(C) Arithmetic Mean
(D) Dispersion

It refers to a general perspective stating
that the causes of criminal behavior can
be found in the mind of the individual

(A) Personality Theory
(B) Psychoanalytic Theory
(C) Psychological Theory
(D) Psychodynamic Theory
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AT SR g § ST ST
% fore e @ 3usian @ | 7' gud wiafies
w9 ¥ il gameEl § d@6fvd © | e
fss TR Tsifees ifTd &g g «ft wfie
B Tahdl @ | qrfeies T & gay o
qegfesr . wEshdR |

(A) e T

(B) e st

(C) ufead wn. Hfim

(D) Tt 2fem

HIETEHI, BIshE Tl 271fd S8 3 @i
gﬁﬁlﬁﬁam FEeTal
|

(A) waEr Brprf
(B) fhe Fenivfiman
(C) Uehdt ahioiaral
(D) 3IFq Ot

I gfeeeniv 3 weh =afa g g o o=
=+ 3T Fofa s gfan & wm o g oin
TR g e SR s S e
FHeTd 2

(A) SfETEH SAEHRTH
(B) | e
(C) 3cF= et
(D) 3Ted B ST

I e @
(A) EHITHATE
(B) TS

(C) ATATHF

(D) SiFoe e
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Torame =1 uep o forat wen safer =t g
7 IGHT A Htg%ﬁ aTel faame &
FEATA ¢ |

(A) @ faam
(B) HHTHA
(C) I HA

(D) fermafaame

3ai Foofa, 39 s Ao it @ 1 38
FEd T |

(A) e Tor
(B) we&mwa O
(C) Safaeh o1
(D) @THTRSTR TOT

Tfee frgal o1 Ueh et S ST Tty
Y U AfFd 1 I WA & fore IuErft
1 SE1 2

(A) & fFaam

(SEICUSERECEL

(C) & HehouT

(D) 3% H & HIg &

uw fau gu faewr 7 @ft =i
1 YR G4 2 |

(A) TTfEER

(B) wred

(C) 3T HTe

(D) WehTvH

T8 U QT gfeeahio & ehid & <1 edl &
o s syaer & s safe 4 aferss
o YT ST Fehd &

(A) SAfFaca fagia

(B) wfagersomene fagia

(C) waT fagra

(D) wAwTfeeht fargia
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iefigari o fore wevagot st

13. This booklet contains 64 pages. 13. 36 it 1 64 U9 2|

14. Directions : Each question or incomplete | 14, F&W : v/ U994 a1 Ued® JYL U4 & 918

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
againstthe question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®0O

Wrong Method

0800

Wrong Method

C®@O0O0

Correct Mathod

IR I HYET TH HF I T B | I3 e
# FraeR! fet U T AT & S 9 1 GE I
S HYAT FHYT I T HL IR ATTH IR gEH §
IUEH TR @H A, B, C 31 D i e 31 e
Aiei-dige 09 8 Fe (@) F 2 | (Feanfim
sufigart & fee d@ma mesr s gra
HIeAT e =)

. W W o Ee S gu o faeiee e ST

W fod | Fm i fa e e o9 el )

CeO0O

fesifera o1 =71 981 affen 1= femr T 2
TIEAH AL id aitent | merd aft aE Tl
RO OO OOI0@O00I0e0 0

o
o
z
0

+8LEGL)I

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

. You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

F5aeff ) 3791 IT FHYES |9 =R % 3T
faf=ga s =nfaw |

. U U9 HI hgel Uk # WAl I8 | 3T9Eh!

Tgfd e 3127d A, B, C I1 D & MR @@
1 e (@) FE R | Afe 9 et w9w &+ g
uh § 31fies MEhn @E R 9 (@) @ AT
IR T WA FR |

3 ol w3 fed Ao st e & W

AT B Al AU TG B E HE THI AR |

. F=a w1 % forn Fae w99 1w wm

T i | I R Wt T |

. B YfETen o 31t JTIER! IR 3ifehd T8 & ¢ |

ITH Hael I UTHH T 2

Go through instructions given in Page No. 1 (Facing Page)




